TRUE or FALSE?

Cut out all 16 cards. Sort them into two piles: TRUE & FALSE

The minute hand is 10 cm long.
From 3:45 to 5:30,
the hour hand will travel 1.1 m.

A 2 pound cSIn rolled down
a 2 m slope will revolve
fully 23 times.
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To travel 500 m,
a unicyclist will
only need to pedal
220 times
with each foot.
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It is 40,000 km around the world.
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The rainbow is 7.5 km long.

On a 10 km ride, each
wheel will revolve
over 4500 times.
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The second hand is 15 cm long.
It will take 64 seconds for it
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The minutehand is 10 cm long.
From 3:45 to 5:30,
the hour hand will travel 1.1 m.
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A 2 pound coin roIIed down
a 2 m slope will revolve
fully 23 times.
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To travel SO0 m,
a unicyclist will
only need to pedal
220 times
with each foot.
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to travel 1 metre.
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